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There are 3 bananas on the table.  6 kids want to equally split the bananas.  How much of a banana should each kid get?





Mickey bought Minnie 5 bouquets of flowers.  There were 20 flowers in each bouquet.  How many flowers does Minnie have in all?








The car race started at 2:00.  It lasts 1 hour and 15 minutes.  What time does the car race end?








There are 10 stickers on a page. If you have 22 pages of stickers, how many stickers do you have?





Jose has 85 peanuts. Kenya has 48 more than Jose. How many peanuts does Kenya have?





There are 96 cupcakes for 8 children to share. How much will each person get if they share the cupcakes equally?








Goldilocks has 3 bowls of porridge to try.  The first bowl is 95° F.  The second bowl is 42° F.  The third bowl is 80° F.  What’s the difference between the hottest and coolest bowls of porridge?





Jimmy has 5 packs of construction paper.  In each pack, there are 80 pieces of construction paper. How many pieces of construction paper does Jimmy have all together?








Owen rented 3 video games.  Each game cost him $2 to rent.  He has $10 to start with.  How much money does Owen have left after he rents the video games?
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